| EAN | Description | Totals | Retail | Total Retail |
|-------|---|--------|--------|--------------|
| 5E+12 | B&Q Brushed nickel Straight Cupboard handle (L)147mm, Pack of 2 | 7209 | £3.00 | £21,627.00 |
| 5E+12 | B&Q Brushed nickel Straight Cupboard handle (L)297mm, Pack of 2 | 14007 | £4.00 | £56,028.00 |
| | | | | |
| 5E+12 | B&Q Brushed nickel Straight Cupboard handle (L)397mm, Pack of 2 | 4171 | £5.00 | £20,855.00 |
| 5E+12 | B&Q Brushed nickel Straight Cupboard handle (L)447mm, Pack of 2 | 16291 | £6.00 | £97,746.00 |
| 5E+12 | B&Q Brushed nickel Straight Cupboard handle (L)497mm, Pack of 2 | 22597 | £8.00 | £180,776.00 |
| 5E+12 | B&Q Brushed nickel Straight Cupboard handle (L)597mm, Pack of 2 | 7304 | £9.00 | £65,736.00 |
| 5E+12 | B&Q Brushed nickel Straight Cupboard handle (L)797mm, Pack of 2 | 7800 | £9.00 | £70,200.00 |
| 5E+12 | B&Q BRUSHED NICKEL STRAIGHT CUPBOARD HANDLE (L)997MM, PACK OF 2 | 3423 | £10.00 | £34,230.00 |
| 5E+12 | B&Q BRUSHED NICKEL STRAIGHT CUPBOARD HANDLE (L)267MM, PACK OF 2 | 5241 | £4.00 | £20,964.00 |
| 5E+12 | B&Q Brushed nickel Straight Cupboard handle (L)332mm, Pack of 2 | 2912 | £5.00 | £14,560.00 |
| | | 90955 | | £582,722.00 |





















